

Capalaba State College

Booklist Supplied by:

Mt Cotton Rd News - Capalaba

Ph: 3245 5453 or 0493 154 215

11

Year

www.mtcottonrdnews.com.au Mount Cotton Rd



Place your order On-Line at www.mtcottonrdnews.com.au following these simple steps.

- Create / Log into your account & check your details are correct & up to date)
- Select the 'Order a School Booklist' Tab, then Select your School, Grade & Subjects
- Complete your order by adjusting any quantities to suit your needs. (Submit and if ordering for more than 1 child, add another order by following the steps again)
- Once all orders are loaded, complete the 4 Step Check out process until you receive an order confirmation number on the screen to confirm your order is placed. (an email receipt will also be emailed)
- Place your Order before January 7th
 to avoid a \$5 Late Fee . Pay on Pick Up Available

<u>Payment Options</u> include online with Credit Card, or by Direct Deposit*. Cash & Eftpos Payments can be made instore and **upon**Collection of your order. Lay-by is also available if needed. *Direct Deposit Details will be included in your confirmation emails.

Collection & Delivery Details

- FREE Early Bird Delivery Order & Pay by November 17th for Free Delivery Between November 22 December 8, 2025
- January Home Delivery is available for a \$7 Delivery Fee. Deliveries will be made between 10-18th January. Home Delivery orders close on January 3rd, 2026
- Collect from our Pop Up Shop.
 Located at the Alexandra Hills AFL Club on
 Windemere Rd, Alexandra Hills. Select your pick up dates when placing your order from available dates shown.
 - Collection Options include
 December 19/20, December 30/31,
 & through January 2-27

Back To School Shop

Booklist Collection & General Purchasing

Alexandra Hills Junior AFL Club

Windemere Rd - Alexandra Hills (Opposite Alex Hills State High School)

December 19/20 & 30/31 9am-3pm

January 2 – 24 8:30am-5pm Mon-Sat

January 25 / 26 9am-1pm; 27th 8am-5pm

FREE Home Delivery Early Bird Offer

Order & Pay by
November 17th for Free
Delivery Between
November 22 –
December 8, 2025

Note: Special Pricing on this Booklist is valid until 15/2/2026*. Standard Retail Prices apply instore from 16/2/2026

Prices are subject to change without notice if a Supplier increases costs by 10% or More



2026 Capalaba State College – Year 11

Order online at www.mtcottonrdnews.com.au

QTY	Description	Price Each	Line Total	
*General	Stationery Requirements (These may need tgo be replaced throughout the	year)		
1	Ear Bud Earphones (with MIC) 3.5mm plug	\$5.75	\$5.75	
1	32gb USB Flash Drive	\$8.99	\$8.99	
1	Ruler 30cm Plastic Clear	\$0.50	\$0.50	
2	Pencil HB Osmer Premium *Single*	\$0.28	\$0.56	
2	Pen Inkjoy Black Medium [Not 4-Colour Thick Pen]	\$0.35	\$0.70	
2	Pen Inkjoy Blue Medium [Not 4-Colour Thick Pen]	\$0.35	\$0.70	
2	Pen Inkjoy Red Medium [Not 4-Colour Thick Pen]	\$0.35	\$0.70	
1	Eraser Large Faber Dust Free	\$0.70	\$0.70	
1	Sharpener 1 Hole Metal	\$0.50	\$0.50	
1	Scissors Osmer 170mm Black Handle	\$2.25	\$2.25	
or	Scissors 158mm LEFT Handed Osmer	\$2.35		
1	Glue Stick 40g UHU White	\$2.69	\$2.69	
1	Highlighter Osmer 6pk	\$6.00	\$6.00	
1	Coloured Pencils Faber Classic 12's (+Gold)	\$4.85	\$4.85	
Elective S	subjects - Students have selected from the Following Subjects			
Ancient H	istory (AHS)			
1	A4 Exercise Book 128p Writer Premium	\$2.10	\$2.10	
Arts in Pr	actice (AIP) *Suggested materials that students might need, depending on the form	nat they choose	tp present the	ir work
1	A4 Exercise Book 96p Writer Premium	\$1.70	\$1.70	
1	A4 Display Book 20pkt Refillable Assorted	\$1.90	\$1.90	
1	32gb Micro SDHC card Class 10 with adaptor	\$9.50	\$9.50	
2	A4 Loose Leaf Music Manuscript 50pk	\$3.95	\$7.90	
1	Lightning Charging Cable Adaptor for IPAD>USB	\$15.00	\$15.00	
1	A4 Visual Art Diary Protext Clear Cover	\$4.80	\$4.80	
2	Pencil 2B Staedtler Tradition	\$0.69	\$1.38	
2	Pencil 4B Staedtler Tradition	\$0.69	\$1.38	
2	Pencil 6B Staedtler Tradition	\$0.69	\$1.38	
1	Marker Artline 200 Black (0.4mm)	\$3.10	\$3.10	
1	Coloured Pencils Faber Classic 12's (+Gold)	\$4.85	\$4.85	
1	Posca Paint Pen PC1MR 0.7mm Ultra Fine 8pk	\$27.95	\$27.95	
1	Apple Pen for School Ipads (Optional - Not available from Mt Cotton Rd News)			
Biology	(BIO)			
2	A4 Exercise Book 96p Writer Premium	\$1.70	\$3.40	
1	A4 Display Book 20pkt Refillable Assorted	\$1.90	\$1.90	
1	Scientific Calculator Casio FX82-AU 2nd Gen [Retain from Year 10]	\$43.50		
Business	(BUS) and/or Business Studies (BSQ)			
1	A4 Exercise Book 96p Writer Premium	\$1.70	\$1.70	
1	Highlighter Osmer 6pk	\$6.00	\$6.00	
Cert III in	Business (VBU)			
1	A4 Exercise Book 96p Writer Premium	\$1.70	\$1.70	
2	A4 Display Book 20pkt Refillable Assorted	\$1.90	\$3.80	
Cert III in	Fitness (VFT)			
1	A4 Exercise Book 96p Writer Premium	\$1.70	\$1.70	
2	A4 Display Book 20pkt Refillable Assorted	\$1.90	\$3.80	

Certificate	III in Aviation (VAV)			
1	Polarised Sunglasses - Supply Own			
Chemistry	(CHM)			
2	A4 Exercise Book 64p Writer Premium	\$1.25	\$2.50	
1	A4 Display Book 20pkt Refillable Assorted	\$1.90	\$1.90	
1	Scientific Calculator Casio FX82-AU 2nd Gen [Retain from Year 10]	\$43.50		
Dance (DA	N) / Dance in Practice (DIP) *Students also need to bring a Drink Bottle to	Classes		
1	A4 Exercise Book 96p Writer Premium	\$1.70	\$1.70	
1	A4 Display Book 20pkt Refillable Assorted	\$1.90	\$1.90	
1	32gb Micro SDHC card Class 10 with adaptor	\$9.50	\$9.50	
Drama (DF	tA) / Drama in Practice (DRP) *Students also need to bring a Drink Bottle to	o Classes		
1	A4 Exercise Book 96p Writer Premium	\$1.70	\$1.70	
1	A4 Display Book 20pkt Refillable Assorted	\$1.90	\$1.90	
English (E	NG) / Essential English (ENE)			
2	A4 Exercise Book 192p [Loose Sheets are not acceptable for class]	\$4.40	\$8.80	
_		Ψ1.10	ψ0.00	
	Mathematics (MAE)	04.40	40.00	
2	A4 Exercise Book 192p	\$4.40	\$8.80	
1	A4 Display Book 20pkt Refillable Assorted	\$1.90	\$1.90	
1	Scientific Calculator Casio FX82-AU 2nd Gen [Retain from Year 10]	\$43.50		
	vision & New Media / Media Arts in Practice (MAP)	04.70	¢4.70	
1	A4 Exercise Book 96p Writer Premium	\$1.70	\$1.70	
1	A4 Display Book 20pkt Refillable Assorted	\$1.90	\$1.90	
•	32gb Micro SDHC card Class 10 with adaptor athematics (MAG)	\$9.50	\$9.50	
2	A4 Exercise Book 192p	\$4.40	\$8.80	
1		\$1.90	\$1.90	
1	A4 Display Book 20pkt Refillable Assorted Scientific Calculator Casio FX82-AU 2nd Gen [Retain from Year 10]	\$43.50	φ1.90	
•	Practices (HPJ)	ψ43.30		
1	A4 Exercise Book 96p Writer Premium	\$1.70	\$1.70	
1	A4 Display Book 20pkt Refillable Assorted	\$1.90	\$1.90	
	Technology Skills (ISK)	Ψ1.00	Ψ1.00	
5	Pencil 2B Staedtler Tradition	\$0.69	\$3.45	
1	Safety Glasses	\$5.95	\$5.95	
1	Safety (Steel Toe) Boots - Not Available from Mt Cotton Rd News		, , , , ,	
Language				
1	Ear Bud Earphones (with MIC) 3.5mm plug	\$5.75	\$5.75	
Legal Stud	lies (LEG)			
2	A4 Exercise Book 192p [Loose Sheets are not acceptable from class]	\$4.40	\$8.80	
Mathemati	cal Methods (MAM)			
2	A4 Exercise Book 192p	\$4.40	\$8.80	
1	A4 Graph Pad 5mm Spirax 805	\$4.60	\$4.60	
1	A4 Display Book 20pkt Refillable Assorted	\$1.90	\$1.90	
1	Scientific Calculator Casio FX82-AU 2nd Gen [Retain from Year 10]	\$43.50		
	Graphics Calculator (Optional) - See Maths Department			
Modern Hi	story (MHS)			
1	A4 Exercise Book 128p Writer Premium	\$2.10	\$2.10	
Music (M	US)			
1	A4 Exercise Book 128p Writer Premium	\$2.10	\$2.10	
2	A4 Loose Leaf Music Manuscript 50pk	\$3.95	\$7.90	
1	Lightning Charging Cable Adaptor for IPAD>USB	\$15.00	\$15.00	

Music In P	ractice (MUP)			
1	A4 Exercise Book 128p Writer Premium	\$2.10	\$2.10	
1	Lightning Charging Cable Adaptor for IPAD>USB	\$15.00	\$15.00	
Physical E	ducation (PED)			
1	A4 Exercise Book 96p Writer Premium	\$1.70	\$1.70	
1	Document Wallet Foolscap PVC with Velcro Assorted	\$1.40	\$1.40	
Physics	(PHY)			
2	A4 Exercise Book 64p Writer Premium	\$1.25	\$2.50	
1	A4 Display Book 20pkt Refillable Assorted	\$1.90	\$1.90	
1	Scientific Calculator Casio FX82-AU 2nd Gen [Retain from Year 10]	\$43.50		
Sport & Re	ecreation (REC)			
2	A4 Exercise Book 64p Writer Premium	\$1.25	\$2.50	
Visual Art	(ART) / Visual Arts in Practice (VAP) - Students will be required to provide a	a canvas whe	en needed	
1	A4 Visual Art Diary Protext Clear Cover [1 per subject if doing both ART & VAP]	\$4.80	\$4.80	
2	Pencil 2B Staedtler Tradition	\$0.69	\$1.38	
2	Pencil 4B Staedtler Tradition	\$0.69	\$1.38	
2	Pencil 6B Staedtler Tradition	\$0.69	\$1.38	
1	Marker Artline 200 Black (0.4mm)	\$3.10	\$3.10	
1	Coloured Pencils Faber Classic 12's (+Gold)	\$4.85	\$4.85	
1	Posca Paint Pen PC1MR 0.7mm Ultra Fine 8pk	\$27.95	\$27.95	
1	Apple Pen for School Ipads (Optional - Not available from Mt Cotton Rd News)			
	Students will be required to supply a Canvas when needed in Term 4			
	Late Order Fee* (Only Applied for Orders Placed from January 8th 2026)	\$ 5.00		